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Missing Row

griddle 0-2-5

Fill the grid with the digits 0, 2 and 5. The digits must add up to the specified row and column
sums. In each shape in the grid, all squares must contain the same digit. A second sum is also
given for each row and column. The second sum assumes that a row or column from the grid
is missing. Find the missing row and column in the grids and shade it or cross it out.

have a 2 in this column.

M
*
11 13
712
24
914
6 6
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5 5 7
5 7 9
This column totals 8, but totals 6 when the In the sample puzzle on the
L . . : o 5 500 o]s
missing row is gone. So the missing row must right, the missing row and
column are shaded gray. 2 41012 2
7 1205 5]2
6 4 9 11 7 M 4 14 15 7 10
8 9 14 11 7 W 4 16 15 9 10
7 9
15 15
12 12
4 4
12 14
Here are two normal 0-2-5 puzzles for you to try as well!
14 11 7 12 6 17 12 19 19 9

19

13

17

20

16

14




